HMANIE BT 4
D EIENAE / 5 &R

DEIEMAE - HA

AR, TH#E A4

EH 22120.

EmigR
REIEERANRKREIEA.
THMA AL RATRRBA W RR
-3 3
E e B2 AT
= 3
= 3 i | N
s ¢ ? AEEE
1 d o T 1.4401
| FA BB KT
& E 4 7 RN ARBBE,
_ = - TFEEH 1.4401 $5R
FiE
- BBMPAG, BRE , EXE
. g4 1.4401
[ £ tZ 18
« TEEH 1.4401
[ElE
ds dj
~ H |
- Ll . E
j Sw |
o C j” aTD
o %
| =
T dy F2 [
22120.1514 - .1520
ALK
&1 B2
FTEEA
R+ BERE" & &
d, d I, ds Iy I3 Iy F F, min max.
-0,02 min = =
-0,05
[mm] IN] r°cl )
BB BRI — A 1
4 M 8x1 4 16 35,0 16 5 3,5 11 -30 80 10 22120.1044
4 M 8x1 6 16 35,0 16 5 3,0 11 -30 80 1 22120.1064
5 M10 x 1 5 19 40,0 18 6 3,0 12 -30 80 18 22120.1045
5 M10 x 1 8 19 40,0 18 6 3,0 14 -30 80 18 22120.1065
6 M12x 1,5 6 23 48,0 22 6 4,5 16 -30 80 30 22120.1046
6 M12x 1,5 9 23 48,0 22 6 4,0 20 -30 80 30 22120.1066
8 M16 x 1,5 8 28 58,0 26 8 6,0 23 -30 80 66 22120.1068
8 M16 x 1,5 12 28 58,0 26 8 7,0 26 -30 80 63 22120.1048
10 M16 x 1,5 12 28 58,0 26 8 7,5 32 -30 80 64 22120.1080
12 M20 x 1,5 15 33 71,5 33 10 9,0 32 -30 80 129 22120.1082
BRBEETIR - A 2
4 M 8x1 8 16 35,0 16 5 3,5 11 - 100 20 22120.1054
4 M 8x1 6 16 35,0 16 5 3,0 11 - 100 20 22120.1074
5 M10 x 1 5 18 40,0 18 6 3,0 12 - 100 32 22120.1055
5 M10 x 1 8 18 40,0 18 6 3,0 14 - 100 32 22120.1075
D gt P E
WHALDER A2

FIE7E: 12.10.2023


http://halder.com/tw/22120.1044
http://halder.com/tw/22120.1064
http://halder.com/tw/22120.1045
http://halder.com/tw/22120.1065
http://halder.com/tw/22120.1046
http://halder.com/tw/22120.1066
http://halder.com/tw/22120.1068
http://halder.com/tw/22120.1048
http://halder.com/tw/22120.1080
http://halder.com/tw/22120.1082
http://halder.com/tw/22120.1054
http://halder.com/tw/22120.1074
http://halder.com/tw/22120.1055
http://halder.com/tw/22120.1075

HMANIE BT 4

D EIENE | 75 E1RKE
R AEHE" 8 F %ﬁ
d; dy I d3 Iy I3 Iy F4 Fy min max.
-0,02 min = =
-0,05
[mm] [N] [°C] [a]
6 M12x 1,5 6 22 48,0 22 6 45 16 - 100 63 22120.1056
6 M12x1,5 9 22 48,0 22 6 4,0 20 - 100 56 22120.1076
8 M16 x 1,5 8 27 58,0 26 8 6,0 20 - 100 107 22120.1078
8 M16 x 1,5 12 27 58,0 26 8 7,0 26 - 100 109 22120.1058
10 M16x 1,5 12 27 58,0 26 8 7,5 32 - 100 11 22120.1090
12 M20 x 1,5 15 32 715 33 10 9,0 32 - 100 203 22120.1092
D GRE IS E
[T
R~ wWF R i R
dz
[mm] [mm] [a]
$48RIZ1F (SO 8675 (DIN 439), F4%4M 1.4401
M 8x1 13 2,8 22120.1514
@ M10 x 1 16 5,4 22120.1515
. M12x 1,5 18 76 22120.1516
" M16 x 1,5 24 18,0 22120.1518
M20 x 1,5 30 33,0 22120.1520

sy

BRFHANEHRES  BEETRNER.

HE2m2
EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22120.1056
http://halder.com/tw/22120.1076
http://halder.com/tw/22120.1078
http://halder.com/tw/22120.1058
http://halder.com/tw/22120.1090
http://halder.com/tw/22120.1092
http://halder.com/tw/22120.1514
http://halder.com/tw/22120.1515
http://halder.com/tw/22120.1516
http://halder.com/tw/22120.1518
http://halder.com/tw/22120.1520

